








Directions (Q. 16-20):-Study the information carefully to answer the questions that 

follow.

In a school there are total 120 staff members and 800 students. 65 per cent of the 

number of staff members are teachers and the remaining staff members are 

administrative officials. Out of the total number of students 45 per cent are girls. 

Twenty per cent of the number of girls can speak only Hindi. The remaining girls can 

speak both Hindi and English. Three-fourths of the number of boys can speak only 

Hindi. The remaining boys can speak both Hindi and English. Two-thirds of the 

number of teachers are males. Five fourteenths of the number of administrative 

officials are females.

एक सू्कल में कुल 120 स्टाफ सदस्यऔर 800 छात्र हैं। स्टाफ सदस्ययों की सोंख्या का 65 

प्रतिशि तशक्षक हैं और शेष स्टाफ सदस्य प्रशासतिक अतिकारी हैं। कुल छात्रय ों में से 45 

प्रतिशि लड़तकयाों हैं। बीस प्रतिशि लड़तकयाों केवल तहोंदी बयल सकिी हैं। बाकी लड़तकयाों

तहोंदी और अोंगे्रजी दयिय ों बयल सकिी हैं। लड़कयों की सोंख्या का िीि-चौथाई केवल तहोंदी बयल

सकिा है। शेष लड़के तहोंदी और अोंगे्रजी दयिय ों बयल सकिे हैं। तशक्षकयों की सोंख्या में दय तिहाई

पुरुष हैं। प्रशासतिक अतिकाररयय ों की सोंख्या का चौदहवाों तहस्सा मतहलाएों हैं।



Directions (Q. 16-20):-Study the information carefully to answer the questions that follow.

In a school there are total 120 staff members and 800 students. 65 per cent of the number of staff members are 

teachers and the remaining staff members are administrative officials. Out of the total number of students 45 

per cent are girls. Twenty per cent of the number of girls can speak only Hindi. The remaining girls can speak 

both Hindi and English. Three-fourths of the number of boys can speak only Hindi. The remaining boys can 

speak both Hindi and English. Two-thirds of the number of teachers are males. Five fourteenths of the number 

of administrative officials are females.



(A) 164 (B)178 (C)188 (D)174 (E)None of these

Q.16 :-What is the difference between the number of boys (student) who can speak both 
Hindi and English and the number of girls (student) who can speak both Hindi and 
English?
तहोंदी और अोंगे्रजी दयिय ों बयलिे वाले लड़कयों (छात्र) की सोंख्याऔर तहोंदी और अोंगे्रजी दयिय ों बयलिे
वाली लड़तकयय ों (छात्र) की सोंख्या के बीच का अोंिर तकििा है?



(A)350 (B)300 (C)400 (D)450 (E)None of these

Q.17 :-The total number of girls (student) is what percentage of the total number of staff 
members in the school?
लड़तकयय ों (छात्र) की कुल सोंख्या सू्कल में स्टाफसदस्ययोंकी कुल सोंख्या का तकििा प्रतिशि है?



(A)16 (B)12 (C)18 (D)14 (E)None of these

Q.18 :-What is the difference between the total number of female administrative officials, 
female teachers and the number of male administrative officials?
मतहला प्रशासतिकअतिकाररयय ों, मतहला तशक्षकयोंकी कुल सोंख्याऔर पुरुष प्रशासतिक
अतिकाररयय ोंकी सोंख्या के बीच का अोंिर तकििा है?



(A)11:56 (B)13:54 (C)13:56 (D)11:54 (E)None of these

Q.19 :-What is the ratio of the total number of teachers to the number of boys (student) who 
can speak only Hindi?
तशक्षकयोंकी कुल सोंख्या का केवल तहोंदी बयलिे वाले लड़कयों (छात्र) की सोंख्या से अिुपाि तकििा
है?



(A)125 (B)115 (C)127 (D)117 (E)None of these

Q.20 :- What is the total number of male administrative officials, female teachers and girls 
(student) who can speak only Hindi?
पुरुष प्रशासतिकअतिकाररयय ों, मतहला तशक्षकयोंऔर लड़तकयय ों (छात्र) की कुल सोंख्या तकििी है
जय केवल तहोंदी बयल सकिी हैं?



Direction (21 to 25 ):- In each question two equations numbered (I) and (II) are 
given. You have to solve both the equations and mark appropriate answer.

(a) If x > y 

(b) If x < y 

(c) If x ≥ y 

(d) If x ≤ y

(e) x = y or no relation can be established 
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Q.21 :- I. x2 − 1.1x+ 0.3 = 0                          II. y² −  0.7y +0.12 = 0

Q.22 :- I. 5x +7y = 7                                      II.  7x − 5y  = 1/5

Q.23 :- I. x² + 11x + 24 = 0        II. y² + 13y +42= 0

Q.24 :- I. x² − 78x + 1512=0                         II.  y2 −68 y + 1155  = 0

Q.25  :- I. x³ = 32.768 II.  y² = 9.61
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(A)2750 (B)3250 (C)4250 (D)4500 (E)3500

Q.21 :-The average expenditure of Sharma for the January to June is Rs 4200 and he spent 
Rs 1200 in January and Rs 1500 in July. The average expenditure for the months of 
February to July is:
जिवरी से जूि के तलए शमाा काऔसिखचा 4200 रुपये है और उसिे जिवरी में 1200 रुपये
और जुलाई में 1500 रुपये खचा तकए।फरवरी से जुलाई के महीिय ों काऔसिव्यय है:



(A)210 (B)185 (C)140 (D)168 (E)None of these

Q.22 :-A boat takes 26 hours for travelling downstream from point A to point B and coming 
back to point C midway between A and B. If the velocity of the stream is 4 km/hr and the 
speed of the boat in still water is 10 km/hr, what is the distance between A and B?
एक िाव िारा की तदशा में तबोंदु A से तबोंदु B िक यात्रा करिे और A और B के बीच में तबोंदु C पर
वापसआिे में 26 घोंटे का समय लेिी है। यतद िारा का वेग 4 तकमी/घोंटा है और शाोंि पािी में िाव
की गति 10 तकमी/ घोंटा, A और B के बीचकी दूरीक्या है?



(A)4 3/4 (B) 3 3/4 (C)3 2/3 (D)4 2/3 (E)None of these

Q.23 :-A tap can fill a tank in 6 hours. After half the tank is filled, three more similar taps 
are opened. What is the total time taken to fill the tank completely?
एक िल एक टोंकी कय 6 घोंटे में भर सकिा है।आिा टैंक भरिे के बाद, िीिऔर समाि िल
खयले जािे हैं। टैंक कय पूरी िरह से भरिे में तलया गया कुल समय तकििा है?



(A)80 (B)60 (C)100 (D)90 (E)None of these

Q.24 :-The largest and the second largest angles of a triangle are in the ratio of 3:2 
respectively. The smallest angle is 20% of the sum of the largest and the second largest 
angles. What is the sum of the smallest and the second largest angles?
एक तत्रभुज के सबसे बडे़और दूसरे सबसे बडे़ कयणक्रमशः 3:2 के अिुपाि में हैं। सबसे छयटा
कयण सबसे बडे़और दूसरे सबसे बडे़ कयणय ों के ययग का 20% है। सबसे छयटे और दूसरे सबसे
बडे़ कयणय ोंका ययगक्या है?



(A)2 (B)6 (C)3 (D)8 (E)4

Q.25 :-Sangram bought 30 kg of wheat at the rate of Rs 9.50/kg and the same amount of 
wheat at the rate of Rs 8.50/kg and mixed them. He sold the mixture at the rate of Rs 
8.90/kg. Find his total profit or loss in the whole transaction.
सोंग्राम िे 30 तकलय गेहों 9.50 रुपये प्रति तकलय की दर से खरीदाऔर उििा ही गेहों 8.50 रुपये
तकलय की दर से खरीदाऔर उन्हें तमलाया। उसिे तमश्रणकय 8.90 रुपये/तकग्रा की दर से बेचा।
पूरे लेि-देि में उसका कुल लाभ या हाति ज्ञाि कीतजए।



(A) 60 (B)50 (C)75 (D)100 (E)40

What approximate value  should come in the place of question mark(?)in the following 
questions.

12.83 × 12.16 ÷ 3.09 × 29.7 = 200 + ?
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(A)5000 (B) 4000 (C)9000 (D)6000 (E)7000

What approximate value  should come in the place of question mark(?)in the following 
questions.

63.899² + 70.009²  = ? + 54.99²
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(A) 14 (B)21 (C)8 (D)17 (E)12

What approximate value  should come in the place of question mark(?)in the following 
questions.

34.03 % of 550.08 ÷ ? = 297.08 + √ 728.97 −√ 89998
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(A)7 (B)3 (C) 5 (D)9 (E)6

What approximate value  should come in the place of question mark(?)in the following 
questions.

2ª = 32.01 ÷ 128.01 × 1023.97 ÷ 7.97 
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(A)4127 (B)3684 (C)3835 (D)3660 (E)3743

What approximate value  should come in the place of question mark(?)in the following 
questions.

54.35 × 39.87 ÷ 13.35 + √3219 ×√4178 = ?
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What should come at place of the question mark (?) in the following number series ?

11 . 841 , 961 , 1089 , 1225 , 1369 , 1521 , ? 

(A)1581 (B)1681 (C)1781 (D)1881 (E)1981
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What should come at place of the question mark (?) in the following number series ?

12 . 963 , 927 , 855 , 747 , 603 , 423 , ? 

(A)209 (B)208 (C) 207 (D)206 (E)205
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What should come at place of the question mark (?) in the following number series ?

13 . 1200 , 480 , 192 , 76.8 , 30.72 , 12.288 , ?  

(A)4.9152 (B)5.8192 (C)6.7112 (D)7.6132 (E)8.5172
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What should come at place of the question mark (?) in the following number series ?

14 .  18 , 20 , 44 , 138 , 560 , 2810 , ?   

(A) 16818 (B)16836 (C)16854 (D)16872 (E)16890
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What should come at place of the question mark (?) in the following number series ?

15 . 5 , 9,  18 , 34 , 59 , 95 , ?  

(A)272 (B)168 (C)116 (D)148 (E)144
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Directions (Q. 6-10):- Direction for Question Based on the following table, answer the 

given questions. The data given in the table is for the month of March in 2018. 

प्रश्न के तलए तिदेश तिम्नतलखखि िातलका के आिार पर तदए गए प्रश्नय ों के उत्तर दीतजए। िातलका

में तदए गए आोंकडे़ 2018 में माचा महीिे के तलए हैं।

Company Total employee Male Employee

MEPL 5550 2410

MSTPL 3200 1860

STPL 2000 1600

SIPPL 2500 1220

MP 4240 2600

SDPL 3560 1240



(A) (B) (C) (D) (E)None of these

Q.6 :- If in April 2018, the number of female employees in Company MP increased by 10% 
and the number of total employees in the company remained the same, what was the 
number of male employees rest?
यतद अपै्रल 2018 में, कों पिी एमपी में मतहला कमाचाररयय ोंकी सोंख्या में 10% की वृखि हुईऔर
कों पिी में कुल कमाचाररयय ोंकी सोंख्या समाि रही, िय शेष पुरुष कमाचाररयय ोंकी सोंख्या तकििी
थी?

Company Total employee Male Employee

MEPL 5550 2410

MSTPL 3200 1860

STPL 2000 1600

SIPPL 2500 1220

MP 4240 2600

SDPL 3560 1240



(A) (B) (C) (D) (E)None of these

Q.7 :-What is the difference between the number of male employees in Company MEPL 
and female in Company SDPL?
कों पिी एमईपीएलमें पुरुष कमाचाररयय ोंऔर कों पिी एसडीपीएलमें मतहला कमाचाररयय ोंकी सोंख्या
के बीच तकििा अोंिर है?

Company Total employee Male Employee

MEPL 5550 2410

MSTPL 3200 1860

STPL 2000 1600

SIPPL 2500 1220

MP 4240 2600

SDPL 3560 1240



(A) (B) (C) (D) (E)None of these

Q.8 :-The number of male employee in Company SIPPL is what percent approximately less 
than the number of female employees in Company MSTPL?
कों पिी SIPPL में पुरुष कमाचाररयय ोंकी सोंख्या कों पिीMSTPL में मतहला कमाचाररयय ोंकी सोंख्या से
लगभग तकििे प्रतिशिकम है?

Company Total employee Male Employee

MEPL 5550 2410

MSTPL 3200 1860

STPL 2000 1600

SIPPL 2500 1220

MP 4240 2600

SDPL 3560 1240



(A) (B) (C) (D) (E)None of these

Q.9 :-The total number of female employee in Company MSTPL and SDPL together is 
approximately what percent of the total number of employee SIPPL?
कों पिीMSTPL और SDPL में तमलाकर मतहला कमाचाररयय ोंकी कुल सोंख्या कमाचारी SIPPL की कुल
सोंख्या का लगभग तकििा प्रतिशि है?

Company Total employee Male Employee

MEPL 5550 2410

MSTPL 3200 1860

STPL 2000 1600

SIPPL 2500 1220

MP 4240 2600

SDPL 3560 1240



(A) (B) (C) (D) (E)None of these

Q.10 :- What is the average number of female employees in Company MEPL, STPL,SDPL 
and MP ?
कों पिी एमईपीएल, एसटीपीएल, एसडीपीएलऔर एमपी में मतहला कमाचाररयय ोंकीऔसि सोंख्या
तकििी है?

Company Total employee Male Employee

MEPL 5550 2410

MSTPL 3200 1860

STPL 2000 1600

SIPPL 2500 1220

MP 4240 2600

SDPL 3560 1240



Directions (Q. 16-20):-Study the information carefully to answer the questions that 

follows. Mahendra group consists of 8000 employees. The ratio of males to females is 

3:2 respectively. All the employees work in five different departments; Administration, 

Accounts, HR, IT and R&D. 16% of the females work in Account department. 32% of 

males work in Administration Department. One-fifth of the females work in the R&D 

Department. The ratio of males to females in the Accounts Department is 3: 2 

respectively. 20% of the total number of employees are in HR department. Females 

working in R&D are 50% of the males working in the same department. 8% of the 

males work in IT Department. The remaining males work in HR Department. 22% of 

the females work in Administration Department and the remaining females work in IT 

Department. महेंद्र समूह में 8000 कमाचारी हैं। पुरुषय ों का मतहलाओों से अिुपाि क्रमश: 3:2 है। सभी कमाचारी

पाोंच अलग-अलग तवभागय ों में काम करिे हैं; प्रशासि, लेखा, मािव सोंसािि, आईटी और अिुसोंिाि एवों तवकास।

16% मतहलाएों लेखा तवभाग में काम करिी हैं। 32% पुरुष प्रशासि तवभाग में काम करिे हैं। मतहलाओों का

पाोंचवाों तहस्सा अिुसोंिाि एवों तवकास तवभाग में काम करिा है। लेखा तवभाग में पुरुषय ों का मतहलाओों से अिुपाि

क्रमश: 3:2 है। कमाचाररयय ों की कुल सोंख्या का 20% मािव सोंसािि तवभाग में हैं। R&D में काम करिे वाली
मतहलाएों समाि तवभाग में काम करिे वाले पुरुषय ों का 50% हैं। 8% पुरुष आईटी तवभाग में काम करिे हैं। शेष

पुरुष मािव सोंसािि तवभाग में काया करिे हैं। 22% मतहलाएों प्रशासि तवभाग में काम करिी हैं और शेष

मतहलाएों आईटी तवभाग में काम करिी हैं।



Directions (Q. 16-20):-Mahendra group consists of 8000 employees. The ratio of males to females is 

3:2 respectively. All the employees work in five different departments; Administration, Accounts, HR, IT 

and R&D. 16% of the females work in Account department. 32% of males work in Administration 

Department. One-fifth of the females work in the R&D Department. The ratio of males to females in the 

Accounts Department is 3: 2 respectively. 20% of the total number of employees are in HR department. 

Females working in R&D are 50% of the males working in the same department. 8% of the males work 

in IT Department. The remaining males work in HR Department. 22% of the females work in 

Administration Department and the remaining females work in IT Department.



(A) 11.5% (B)10.4% (C)12.5% (D)13.25% (E)None of these

Q.16 :- The number of males working in HR department is what percent of total number of 
the employees in the organization?
मािव सोंसािि तवभाग में कायारि पुरुषय ों की सोंख्या सोंगठि में कमाचाररयय ोंकी कुल सोंख्या का
तकििा प्रतिशि है?



(A) 256 (B)250 (C)260 (D)240 (E)None of these

Q.17 :- What is the difference between the number of employees (Male and female) working 
in the Account Department?
लेखा तवभाग में कायारि कमाचाररयय ों (पुरुषऔर मतहला) की सोंख्या में तकििा अोंिर है?



(A)744 (B)824 (C)784 (D)704 (E)None of these

Q.18 :-What is the number of females working in the Administration Department?

प्रशासि तवभाग में कायारि मतहलाओों की सोंख्या तकििी है?



(A) 560 (B)450 (C)490 (D)510 (E)None of these

Q.19 :- What is the average number of females working in the IT and R&D Department 
together?
आईटीऔरआर एों ड डी तवभाग में तमलाकरकामकरिे वाली मतहलाओों कीऔसि सोंख्या
तकििी है?



(A)56.67 (B)62.97 (C)66.67 (D) 58.37 (E)None of these

Q.20 :- Number of males working in IT Department is what percent of the number of 
females working in the same department? (Rounded off two digit after decimal)
आईटी तवभाग में कायारि पुरुषय ोंकी सोंख्या समाि तवभाग में कायारि मतहलाओों की सोंख्या का
तकििा प्रतिशि है? (दशमलव के बाद दय अोंकय ों में पूणाांतकि)



(A) 357 (B)369 (C)342 (D)376 (E)None of these

Q.21 :- In an examination, Rahul secured 52% marks and failed by 23 marks. In the same 
exam, Radha secured 64% marks and scored 34 more than the passing marks. Find the 
score of Manoj in the exam, who secured 72% marks?
एक परीक्षा में, राहुल िे 52% अोंक प्राप्त तकएऔर 23 अोंकय ों से अिुत्तीणा हय गया। उसी परीक्षा
में, रािा िे 64% अोंक प्राप्त तकएऔर उत्तीणा अोंकय ों से 34 अतिकअोंक प्राप्त तकए। परीक्षा में
मियजकास्कयर ज्ञाि कीतजए, तजसिे 72% अोंक प्राप्त तकए हैं?



(A)4km (B)8km (C)7km (D)5km (E)6km

Q.22 :-A man rowed against a stream flowing 1.5 km/h to a certain point and then turned 
back, stopping 2 km short of the place from where he originally started (i.e. he took a short 
cut in downstream journey which saves his 2 km). If the whole time occupied in rowing be 
2 hr 10 min and his uniform speed in still water be 4.5 km/h then the man went up the 
stream for a distance of?
एकव्यखि एक तितिि तबोंदु पर 1.5 तकमी/घोंटा की गति से बहिे वाली िारा के तवरुि दौड़िा है और तफर वापस
मुड़िा है, जहाों से वह मूलरूप से शुरू हुआथा उस स्थाि से 2 तकमी कम रुकिा है (अथााि उसिे डाउिस्टरीम यात्रा
में एकशॉटा कट तलया तजससे उसकी 2 तकमी की बचि हयिी है)। यतद रयइोंग में पूरा समय 2 घोंटा 10 तमिट हयऔर
शाोंि पािी में उसकी एकसमाि गति 4.5 तकमी/घोंटा हय, ियआदमी तकििी दूरी िक िारा के ऊपर गया?



(A)48π (B)15π (C) 63π (D)24π (E)None of these

Q.23 :-From a solid, right circular cylinder of length 4 cm and diameter 6 cm, a conical 
cavity of the same height and base is hollowed out (The cylinder and cone have common 
base). The whole surface of the remaining solid (in square cm.) is
लोंबाई 4 सेमीऔरव्यास 6 सेमी के एक ठयस, लम्ब वृत्तीय बेलि से समाि ऊँचाईऔरआिार की
एकशोंक्वाकार गुहा कय खयखला कर तदया जािा है (बेलिऔरशोंकु काआिार उभयतिष्ठ हयिा
है)। शेष ठयसकी पूरी सिह (वगा सेमी में) है



(A)2293cm³ (B)2346cm³ (C)2472cm³ (D)2592cm³ (E)None of these

Q.24 :-The ratio between the radius and height of a cone is 3:4. If height is 24 cm. then what 
is the volume of the cone?
एकशोंकु की तत्रज्याऔरऊों चाई के बीच का अिुपाि 3:4 है। यतद ऊँचाई 24 सेमी. िय शोंकु का
आयििक्या है?



(A)66348 (B)64218 (C)65818 (D)64288 (E)None of these

Q.25 :- The population of a town is 156695. There are 1035 women for every 1000 men. If 
42% men and 40% women are literate. Find the total number of literate person in the 
town?
एककसे्ब की जिसोंख्या 156695 है। प्रते्यक 1000 पुरुषय ों पर 1035 मतहलाएों हैं। यतद 42% पुरुष
और 40% मतहलाएों साक्षर हैं। शहर में साक्षरव्यखियय ोंकी कुल सोंख्या ज्ञाि कीतजए?



(A)126 (B)42 (C)168 (D)52 (E)None of these

Q.26 :- Out of three given numbers, the first number is twice the second and thrice the 
third. If the average of these three numbers is 154. Then find the difference between the 
first and the third numbers.
दी गई िीि सोंख्याओों में से, पहली सोंख्या दूसरी की दुगुिी और िीसरी की तिगुिी है। यतद इि
िीि सोंख्याओों काऔसि 154 है। िय पहलीऔर िीसरी सोंख्या के बीचका अोंिर ज्ञाि कीतजए।



(A)8500 (B)6500 (C) 9000 (D)7000 (E)None of these

Q.27 :-Vibha gave 65% of the amount he had to Jiya. Jiya gave 2/5th of what he received 
from Vibha to Shikha. After paying Rs.320 to the taxi driver out of the amount he gets from 
Jiya, Shikha is now left with Rs.1500. Find out how much amount did Vibha have? तवभा िे
अपिी रातश का 65% तजया कय दे तदया। तजया िे तवभा से जय तमला उसका 2/5 तहस्सा तशखा कय
दे तदया। तजया से तमलिे वाली रकम में से टैक्सी डर ाइवर कय 320 रुपये देिे के बाद अब तशखा के
पास 1500 रुपये बचे हैं। ज्ञाि कीतजए तक तवभा के पास तकििी रातश थी?



(A)12 (B)13 (C)14 (D)15 (E)17

Q.28 :- 40 men could finish a work in 28 days but when some more men joined the work 
was finished in less than 3/4th of the time. Find the number of more men joined.
40 आदमी एककामकय 28 तदिय ों में खत्मकर सकिे हैं लेतकि जब कुछऔरआदमी काम में
शातमल हय जािे हैं िय काम 3/4 से कम समय में खत्म हय जािा है। अतिक पुरुषय ों की सोंख्या ज्ञाि
कीतजए।



(A)48% (B)50% (C)54% (D)60% (E)None of these

Q.29 :- 4 liter of a solution having 10% acid was mixed with 5 litre of a solution having 16% 
acid. Six liter of pure acid was then added to the resulting solution. The concentration of 
acid in the final solution is:
10% एतसड वाले 4 लीटर घयलकय 16% एतसड वाले 5 लीटर घयल में तमलाया गया। तफर
पररणामी घयल में छह लीटर शुिअम्ल तमलाया गया। अोंतिम घयल में अम्लकी साोंद्रिा है:



(A)32 , 2 (B)8, 6 (C)6 , 6.4 (D)18 , 4.5 (E)None of these

Q.30 :-A motorboat whose speed in still water is 24km/hr, takes 1 hour more to go 32 km 
upstream than to return downstream to the same point. Find the speed of stream in km/hr 
and time taken in hour to cover 192km in down stream?
एक मयटरबयट, तजसकी शाोंि जल में गति 24 तकमी/घोंटा है, िारा के प्रतिकूल 32 तकमी जािे के
तलए उसी तबोंदु पर िारा के अिुकूल लौटिे की िुलिा में 1 घोंटे अतिकसमय लेिी है। िारा की
गति तकमी/घण्टा में ज्ञाि कीतजए िथा िारा के अिुकूल 192 तकमी की दूरी िय करिे में घोंटे में
तलया गया समय ज्ञाि कीतजए?
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